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How many oranges are there alfogether? @

How many cakes are there altogether? @

5+4= 9+0=

7+2= 3+3=

( Taking away )
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5 take away 3 equals
7 take away 2 equals

9 take away 8 equals
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8 take away 5 equals

( More taking away )
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6 take away 5is 1. %
9 take away 2 is 6.
8 take away 4 is 2.
10 take away 10is 0.

( Number problems )
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( Add or take away? )

[ There are 9 apples on a free. 3 fall off.

How many are left? E]

[ Sam has 5 pears. She gets 2 more.

How many does she have altogether?
[ There are 8 pencils in a pack. 4 are taken
out. How many are left? E]

Example word problem: 5 children have anice
cream each. Sam and Holly drop theirs. How many
children still have their ice creams?
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